Stone weeper (overflow outlet

Note This outlet device is designed for a 100 year storm event
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Basin 2 72
D=531"x.98=52" 2.
A (Road &Xparking) =19,480 sq ft (L/D+ o L )
Q= 5.20" x 19480 sq ft = 9110 cu ft Q = Total flow through dam (cfs)
, . H = Ponding depth = 1
Basin capacity = pond + rock storage . ,
Pond = 6500 W = Total width of weeper = 25
?352533232 - 3288 cu ft L = Horizontal flow path width = 1.5
D = Average diameter of rock = .5’
Q= 17x25' - 1'x25 = 25 =10.68 cfs
Typical Basin cross section (1'/5+25+1%% (2+25+1)" 2.34
Existing CFS (100 yr. storm) as per TR-55
11.04 cfs
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